“ RIVAL

POWERSPORTS

m RADIATOR RELOCATION KIT INSTALLATION MANUAL

EINBAUVORSCHRIFT FUR DIE AUSTRAGUNG DES KUHLERS

For: CFMoto CForce 800 HO EPS (2024-)

2444.8195.1

WWW.RIVAL4X4.COM WWW.RIVALPSUSA.COM



<,
Q%

EN
DE

EN
DE

EN
DE

EN
DE

EN
DE

EN
DE

EN
DE

Regular fasteners
Normale Befestigung

Regular fasteners
Normale Befestigung

Screw a several turns
Mit wenigen Umdrehungen befestigen

Loosen bolts
Bolzen lockern

Movement Arrow
Bewegungsrichtung

Location / Position Arrow
Anordnung / Positionsrichtung

Screw Arrow
Drehrichtung

“ RIVAL

POWERSPORTS



“ RIVAL

POWERSPORTS

HEX
EN Ratchet S-4 EN Sealant
( DE Ratsche @ s-10 % S-5 & DE Dichtmasse x rench 10 mm
Q —
4 o
' EN Dryer % EN Office Knife ({ EN Jigsaw EN Pliers EN File
& DE Fohn ) DE Biiromesser B DE Laubsage DE Flachzange DE Metallfeile

x1
9 R
- c
\6 x1
=Tl -
doo/d70 x1 | d9o0 x1]1,3m x1
18 @ 19 @ 20| s [21
d73 1m x1|L=0,2m x1 x2 | M8x20 x4
24 25 26 27
—D = 06 F 0
M6x30 x2 | M6x16 x23 | M6x12 x13 | @6 x1
30 31 32 33
S PFe P F o
v | T
28 x4 | M6 x16 | 4,6-4,8mm x5 | 20-32mm x8
34 @ 35 @ 36 j
60-80mm x4 | 70-90mm x4 | d20 x2

m Attention! All flexible hose couplings are designed with a sealant.

Achtung! Alle flexiblen Schlauchkupplungen werden mit einem dichtmittel
ausgefihrt.




“ RIVAL

POWERSPORTS

m Attention! Do not remove battery.




POWERSPORTS

LEFT




A
=




“ RIVAL
POWERSPORTS

LEFT




POWERSPORTS

LEFT=RIGHT




POWERSPORTS

pt
hetl

/
e

2
e\
1
o

R

LEFT=RIGHT
A .
(] -' "lil; .
"l
— =

0 F

LEFT=RIGHT
L




“ RIVAL
WERSPORTS

PO




LEFT=RIGHT




“ RIVAL
POWERSPORTS




“ RIVAL

POWERSPORTS

RIGHT

===
5T

—
©
@
©
_
Dl




POWERSPORTS




“ RIVAL
POWERSPORTS




“ RIVAL
POWERSPORTS

000000000 |

) ©)




“ RIVAL
WERSPORTS

PO




“ RIVAL
POWERSPORTS




“ RIVAL
POWERSPORTS

Ny

17




POWERSPORTS




“ RIVAL

POWERSPORTS

/




“ RIVAL
POWERSPORTS




POWERSPORTS

——
OO ©

\




“ RIVAL
POWERSPORTS




POWERSPORTS




POWERSPORTS

A/ ST

RIGHT




“ RIVAL
POWERSPORTS




“ RIVAL
POWERSPORTS

—_

—_—

\ \Q%Jr:‘ /
I

[
.

il

as




“ RIVAL
WERSPORTS

PO




POWERSPORTS

LEFT=RIGHT







POWERSPORTS

LEFT=RIGHT




POWERSPORTS

—_

i
@r\
O

it

A




“ RIVAL
POWERSPORTS

RIGHT

LEFT=RIGHT

LEFT




“ RIVAL
WERSPORTS

PO

A ;
‘ [
Ay A} l'
. . ;4
A . ‘-‘
. . : S
AL 18 s Y 1
23 ; ‘ ; 17 < OEM
‘ v L
> . I
| “ . : :
i & ) i |
| a [} H |
Y D S
‘\ “ 1 ‘
)
) P
S ¥ D
) s :




POWERSPORTS




“ RIVAL
POWERSPORTS

LEFT=RIGHT




“ RIVAL

POWERSPORTS

M6=9.5 Nm

My
"N A —
's\ Y a1 M6=9.5 Nm -, oy i

2 25,28
4'0§ m Al
‘0% 0%
e RN




“ RIVAL
POWERSPORTS

LEFT=RIGHT \\ | \\

-




“ RIVAL

POWERSPORTS
m Trim if ducts are too long.
q 8 %
¢
0
Zl1 ~N18
2.4
= )
——116)
‘% m Trim if hosepipes are too long.
é - = ——— L
PO A
= | @m 0|
: 33 ?
| | 20
LA o
L1 L 4
_ / = - \
§ = == |




“ RIVAL
POWERSPORTS

-‘é‘f&
24.0 Nm

-‘é‘f&
M6=9.5 Nm




“ RIVAL
POWERSPORTS

LEFT=RIGHT







“ RIVAL

POWERSPORTS




“ RIVAL
POWERSPORTS




